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LIf Tim & b : Yt o5 Compute a=2, b=7  (10%)
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2.1 f(x+1)=x’+— > Computef'()=? (10%)
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df e?—e* + xy=0- Compute _‘;Z:? (10%)
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4. Compute lim 2+e")* =2 (10%)

X—>r+02

L x =2 aow

(x—2)(x+1)

6. Find H(?szy)dxdy ’ R={(x,y12y25x£2y , 0<y<1 } (10%)
R

5. Compute j

7. Is the improper integral j: x’e”*dx convergent or divergent ? If convergent, find the
value. (10%)

' 4 3 2 3 2 dv

B.If V=xy" ., x’+y=t,x +y =1, find — =7 (10%)

9. Find the area of the region bounded by the graphs of y =x” and y = 2x+ 8. (10%)

10. The region bounded by the curve y = |x| +1,y=2x", and the line is revolved about the

x-axis. Calculate the volume of the solid generated. (10%)
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